
Que	
  l’opéra,on	
  soit	
  posée	
  sous	
  la	
  forme	
  d’une	
  addi,on	
  répétée	
  
ou	
  d’une	
  mul,plica,on,	
  le	
  calcul	
  est	
  le	
  même	
  :	
  on	
  calcule	
  8	
  fois	
  
4,	
  32	
  ;	
  on	
  re,ent	
  3	
  dizaines	
  pour	
  un	
  traitement	
  ultérieur	
  et	
  on	
  
écrit	
  2	
  unités,	
  etc.	
  La	
  seule	
  différence	
  est	
  que	
  la	
  retenue	
  de	
  la	
  
mul,plica,on	
  n’est	
  pas	
  écrite,	
  elle	
  est	
  faite	
  sur	
  les	
  doigts.	
  	
  
Cela	
  est	
  jus,fié	
  aux	
  élèves	
  :	
  au	
  CE2,	
  ils	
  apprendront	
  les	
  
mul,plica,ons	
  par	
  des	
  nombres	
  à	
  2	
  chiffres	
  et	
  ça	
  ne	
  sera	
  plus	
  
possible	
  de	
  l’écrire.	
  	
  

On	
  confronte	
  deux	
  
organisa,ons	
  différentes	
  
du	
  même	
  calcul,	
  
organisa,ons	
  qui	
  sont	
  
celles	
  des	
  calculs	
  écrits	
  
et	
  mentaux.	
  	
  



L’organisa,on	
  de	
  ceOe	
  séquence	
  est	
  la	
  même	
  que	
  celle	
  de	
  la	
  
séquence	
  83	
  :	
  que	
  l’opéra,on	
  soit	
  posée	
  sous	
  la	
  forme	
  d’une	
  
addi,on	
  répétée	
  ou	
  d’une	
  mul,plica,on,	
  le	
  calcul	
  est	
  le	
  même	
  :	
  
on	
  calcule	
  6	
  fois	
  3,	
  18	
  ;	
  on	
  re,ent	
  1	
  dizaine	
  pour	
  un	
  traitement	
  
ultérieur	
  et	
  on	
  écrit	
  8	
  unités,	
  etc.	
  	
  

On	
  confronte	
  2	
  organisa,ons	
  différentes	
  du	
  même	
  calcul	
  qui	
  sont	
  
celle	
  du	
  calcul	
  écrit	
  en	
  colonnes	
  et	
  celle	
  du	
  calcul	
  mental.	
  
À	
  droite,	
  un	
  cas	
  au	
  moins	
  de	
  mul,plica,on	
  peut	
  être	
  calculé	
  sans	
  
la	
  poser	
  (90	
  x	
  5).	
  Prendre	
  conscience	
  qu’on	
  trouve	
  le	
  même	
  
résultat	
  en	
  la	
  posant	
  n’est	
  pas	
  inu,le	
  non	
  plus.	
  	
  


